
Subject: Problem with histogram calculation - please need help
Posted by moxament on Mon, 21 Apr 2008 13:35:03 GMT
View Forum Message <> Reply to Message

Dear All,

I have a floating-point array d with dimensions 300x300. The minimum
value of the array is 3.07527 x 10^9 and the maximum value is  1054.91
x 10^9. I can not calculate the histogram of the array. I get the
following message:

ENVI> hist = HISTOGRAM(d)
% Array has too many elements.
% Execution halted at: $MAIN$.

Can anyone tell me how can I overcome this problem please. Thank you!

Dabboor
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